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wa& & (M) T = i #& (M) HEHMEYE (1)

ERIE S| 66,751,560 61,807,000 (A) 4,944,560
PAY I 67,976,280 62,941,000 (B) 5,035,280
WK & 61,760,880 57,186,000 (C) 4,574,880
PAY e LR 62,893,800 (F) 58,235,000 (D) 4,658,800 (E)
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% W EEBTRERESEIEETE No. 1
BHEEL ] RETEERE
— i = - i = HEiR%E
B H " = B i B s B B B sm | FUVERE W3
EETEE
1| AsgETrE = 35,863,528 =X 36,545,946 682,418 H4%A
I EXEELE = 4,981,075 = 4,981,075 0
| ks Tk = 4,934,361 = 5,178,421 244,060 H4%R
BT EEH 45,778,964 46,705,442 926,478 H4%E
/\ﬁ%
| B = 2,173,162 =X 2,195,371 22,209 |H4%H
| B5E e =X 6,264,582 2y 6,325,534 60,952 H4%H
— R PR X 7,590,338 = 7,714,716 124,378 %
HmEE 16,028,082 16,235,621 207,539 %R
&t 61,807,046 62,941,063 1,134,017 4%
AR (L HmE) TH A ET 61,807,000 62,941,000 1,134,000 %8
HE RS S ER 4,944,560 5,035,280 90,720 H4%E
WaERH(I=EE) 66,751,560 67,976,280 1,224,720 %8
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RETZEEAD RETEERE e
H i Y AT 25 | mE B g | SoERE WE
I |BEIS
HEFARTE 1 = 33,464,932 1] =& 33,464,932 0
B [/METLE 1 KX 1,706,208 1 &K 2,027,288 321,080 %
C |#EI1TEH 1 = 692,388 1 =& 1,053,726 361,338 |H4%H

a5t 35,863,528 36,545,946 682,418 H4%H




& EEBTRERERSEEETS No. 3
L IR ER B =L IR ER
B H = o [HE| b5 | 58 g wn BE e | EOWRE 0%

I [BEXARIE
1 |EEERGR LS IR 863,600 1 K 863,600 0
N S 1 K 679,820 1 K 679,820 0
3 |MiETEH 1 K 168,960 1 KX 168,960 0
4 [ar7)—FTH 1 K 2,137,697 1 K 2,137,697 0
5 KT E 1 K 974,850 1 KX 974,850 0
6 |8 L 1 K 1,309,540 1 K 1,309,540 0
7 |#kEITE 1 K 3,628,637 1 KX 3,628,637 0
8 |MFELE 1 K 1,682,688 1 K 1,682,688 0
9 |BIKLE 1 K 148,032 1 K 148,032 0
10 [#AVTH 1 K 76,304 1 K 76,304 0
11 | KL 1 K 574,431 1 K 574,431 0
12 |[BAR KOl L5 IRE-V 2,926,732 1 K 2,926,732 0
13 |&EIH - 1,735,092 1 K 1,735,092 0
4 |EETHE 1 K 535,092 1 K 535,092 0
15 |BEETH 1 K 3,826,346 1 KX 3,826,346 0
16 |@BIETHE 1 K 162,689 1 K 162,689 0
17 |NEETHE 1 K 3,303,192 1 K 3,303,192 0
18 | 2=y hKOZDOfll T 1 K 8,731,230 1 K 8,731,230 0

Gt 33,464,932 33,464,932 0
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SHEER TINEEE —
& 5 5 &1 g 5 sm | BOVERE W
1,706,208 2,027,288 321,080 H4%RH
1,706,208 2,027,288 321,080 H4%RH
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SHEER TINEEE —
H w = B8  EE S S5 | mE  Hm S sm | BOVERE W
C |[BEI=E
1 |Easns 1 = 692,388 1 = 1,053,726 361,338 H4%A

et 692,388 1,053,726 361,338 4R




